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PART-A

A 4 Sl )
This part shall contains 50 multiple choice/ objective types questions, each
question carrying one marks. [50%1=50]

3 enmy) 50 W woky/SHIF JPon TJRIE, 2LYRRORTZT, JBodRowd
TBodo 2,00 WOBRRY BROOTIE.

1. Ifthe elasticity of demand for a commodity is zero it is

(A) Perfectly inelastic demand (B) Perfectly elastic demand
(C) Relatively elastic demand (D) Relatively inelastic demand
23eRFOD %@a%ws%m Ma‘émﬁc:éé, T

() TOTREDE @%@m@ﬁ% PAISEE (D) TOTRERE %@m@aﬂs ARE
() moFeg %\%;%aiﬁ AREE (B) moFeg @%@m@aﬂ% ANEE

2. Elasticity of substitution in case of linear homogeneous production function

equals to

(A) Greater than one ; (B) Less than one

(C) Zero ; (D) Unity

30 D8 CRIT YOI, 20IRY T JPOD %@:o%ﬁ%%@ O3PRTY, RSBOTONTI?
(R) woBo2 %), : () woB30Z IR

(R) R, (8) HT BTPD

3. Limit price is a price that
(A) Limits excess profits (B) Restricts output
(C) Preventsentry ' - (D) Encourages exit
WBREPIT 23S

(2) ©OF CoERD, WIRETHIT (D) WIFI, WIALRID '
(v) TNeBT), BBOIWIT (B) DFRTBRY, BRETEABT

4. Inindifference curve analysis the price effectis a combination of

I. Income effect II. Substitution effect
III. Negative income effect IV. Positive price effect
(A) IandIII ‘ (B) I, IIIand IV

(C) IandII (D) LII, [0l and IV
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@m&esﬁé wg,deajodog XS TomORF) B FFAT 03T TOHOINY
RoodeexS30inNg.

I. &oood Tz II. 2TOFD TOTHOD
III. 90@Zs S0k OB IV. Beds &3¢ Zomomd
(@) I I () LU= IV

() I3 I (@) LIL I3 IV

S.  Identify the right chronological order of the following :
I.  Theory of Monopolistic Competition.
II.  Curnot’s Theory of Duopoly.
III. Marshall’s Theory of Quasi-rent.
IV. Sweezy’s Kinked Demand Curve Analysis.
A IV, IIL, 1, I B) L 1I, 1, 1V
(C) UL, I, IV, II (D) I, 11, 1, IV
TORRETN FSNIYrTa, FIFRRPR.
L 23S 79008 Baecs
II. ST 038 O =3 SPTO- BFeces ATROZ
[II. So[Fe* B&T 28rieed ATROZ
IV. 2250030 8008 Be@d Jeal QFexsd
(@) IV, 111, I,1I ®) L 1, 10, 1v
() I, I, IV, II : (®) ILIL L IV

6. According to Keynes, the value of the multiplier will be high in an economy
where

(A) Marginal Propensity to Save (MPS) is high

(B) Average Propensity to Save (APS) is high

(C) Marginal Propensity to Consume (MPC) is high

(D) Average Propensity to Consume (APC) is high

56, 030 Tws Mhess [PY, eBFEFINY f BAhIHTS,
(R) 2Q NWPZRODT 2RO [ 0d0 (MPS) BpNDFBRe 99

(V) 2Q WPTOHT ZTexd Q3030 (APS) BpNDFBRE 09

() 29 LHPeend AW 923,030 (MPC) Zespnadydee @9

(B) 29 oNPeens Iookd 26003 Q00 (APC) BN BRe. 9
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7. The Permanent income hypothesis was developed by

(A) J.M.Keynes (B) Milton Freidman
(C) Duesenberry (D) Modigliani
T3 S0 B T, TBTOOATT.

(2) H.20. 36T, (D) WO PEBRT’
(2) BRATWO (B) BRONOITR

8. Under IS-LM model, a simultaneous increase in investment and money supply
results in

I. IS curve moves upwards

II. LM curve shift upwards

III. IS curve moves downwards

IV. Shiftin equilibrium position

(A) I, II and III only (B) IandII only
(C) I, and IV only (D) All of the above
IS-LM 8030000, BeiF 0B, BT m&e;éo&eg Q85O é%@mdd Elnle}
FO03H)

I IS 3esdodn seendmon BORITI

II. LMdes3odn veensdamen BORII

L IS Sead3od» 3¢ 8O3

IV. 3B0m0083 R S0DY VTR

(@) LI I =5wg, (@) I @B &P

() I, I3 IVERg (B) F0eIT 2QTP
9. Which of the following is a part of speculative demand

a) Hoarding b) Expectations

c) Savings d) Investment

(A) a)andc) (B) a)andb)

(C) b) and c) (D) a)and d)

FSNIINEY o3RI Xed, eRBOD Pon=oNT.

a) 3eDT® b) QDS

c) YVPIOD d) =RAS

(¥) a) DR ¢) (R) a) 3B b)

(%) b)A c) (8) a)aB) d)
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10.

11.

12,

13.

When Marginal Propensity to consume is 0.75 the multipler has the value

(A) 0.75 (B) 2.00
(C) 5.00 (D) 4.00

RCTPOZ OFBReNT 92, 20T 0.75 SRR s DR, DQBZFOTT.
(@) 0.75 () 2.00

(%) 5.00 : (@) 4.00

The concept of sustainable development is coined and defined by

(A) Planning Commission (B) Finance Commission
(C) Brundtland Commission (D) Joseph Commission
,*gafuae&a’ e:aapwe)c% R0 adbﬁgsﬁ’odamol QTR SR3TVATIIT.
() Brexmo sodeen (R) TRy Bodeen
(R) WO wpow wodeen (B) Boedsx® sodeen

Which of the following is most appropriate indicator of economic growth
(A) National Income

(B) Real GDP

(C) Real Percapita GNP over a long period of time

(D) Capital formation .

3 FINIPYINSY SOF3 URF[QOD T BeT XeT CIPJHD

(®) Ga%eoda Slanlewy

(R) 3 BB

(R) DERFBRODY Iz 30 2O

(B) woB=e% TBI

HDI is not composed of

(A) Longevity (B) Level ofincome
(C) Literacy : - (D) Human freedom
3R HDI 03 Zoodnexs ¥ 9

(R) Qe3FoE O30T, (D) soeod 3

(%) =w3TI _ (B) Sns= @8og,
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14. Arrange the following in the order starting from the earliest :
I. The Bombay Plan
[I. The Gandhian Plan
III. The People’s Plan
IV. Sarvodaya Plan
(A) L .10, I, IV (B) I, I, IV, III
(C) IV, B 1171 (B)- L b1V, 1
FCONIRTY, 2TOND.
I 250088 o3Ress
[I. mode oSpexs
M. 230 03RS
IV. 33premod odnend
() 17T, TE IV ' (®) IL L, IV, III
) IV,ILILI (&) LI, IV, I

15. Sabina Alkire and James Foster developed :
a) Human Poverty Index b) Multi-dimensional Poverty Index

¢) Human Deprivation Index d) Gender Development Index
(A) a)andc) (B) b)

(C) b)andc) (D) a)and d)

PSFARD) Eﬁ@%ﬂ BBy BeRY, AT TROBTRBATIRT. _

a) VWPIN WEIT e b) W ©ORW WRERIT XL
c) HBPIN BJOW XYW d) ort FRF, 2028

() a)eH3 o) () b)

(2) b) =R c) (B) a)==R d)

16. The probability of rejecting a true hypothesis is

(A) Type - II error (B) Type - I error

(C) Standard error (D) Probable error

RETE ATOIBEY S0ROME FoRHIOH3 '

() VBSEOR B[RTWO BRER (D) BRATOICD [PTWO BRER
(%) Tso0ed3 BeeR (B) Roges Bwee
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17. Moving Average is used in

(A) Dispersion (B) Correlation

(C) Hypothesis Testing (D) Time series analysis
BORT KNTIIOOD, IPFHTTY PTO3RENTRMHITI

(®) T | (®) RRFowod

() BOTROZ BeOrs (B) Beed QFems

18. Arrange the following averages in the ascending order of their magnitude ina
negatively skewed distribution

I.  Arithmetic Mean

II. Median
III. Mode
(A) 1L L II ' (B) LIL III
(C) ILIII, I (D) IIL I1, I

& 3YAT Noafqar{eéab m’pméﬁ WO DoWE I msﬁ& a’éﬁoé FSNOT
S Q0w BTF0I eﬂsérifa%a

[ e203ReesdT e

II. NeBod®

III. RBeee®

(@) IIL I, II () LIL II
(2) IL I, I (@) 1L IL, I

19. To test the significance of individual co-efficient in regression model we use
(A) Ztest (B) ‘t’ test
(C) F test ' (D) Chi-Square test

oRe3s* mcsao:w ‘QO@@&DO&)Q}‘ BR-DVAON0LTS masam wae{mw
R o:ba@cim m&oééodd

() Z- =oeg (®) t- Soeg
(r) F-m0e3 (@) 8% co° Tocs
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20.

21.

22,

23.

Under simultaneous equation’s model the necessary condition of identification
is :

(A) Order condition (B) Rank condition
(C) Sample condition : ‘ (D) Size condition
Ry QORA Be0e83ee BPTOCRE HTHEDRION ©rzn T Q0TWT.
(R) STFT° ToRTIY () DT ORI

() SRS Toans (@) ™3, BT

Zero Base Budget was first tried by

(A) Philip E. Taylor - (B) C.V. Brown
(C) Jimmy Cutt : (D) James Carter
3o7, S0 VORTJOD T, TTOATWW.

(2) 295 E. 8T () C.V. 3*°
(R) B, T (B) ¥3F 5o00°

The Author of the book “Public Principles of Public debt”

(A) Buchanan (B) Dalton
(C) Musgrave (D) B.P. Tyagi
TRFT LRV, & IRT e, TAT WITHM.

(R) LTI () O
(r) PIRCS” (B®) D. & /)N

Tax structure is progressive if

(A) The average tax rate decreases as the level of taxable income increases
(B) The average tax rate increases as the level of taxable income increases
(C) The average tax rate remains constant as the level of taxable income increases
(D) None of the above

30103 CIIID TRE TTIWNIR. 20T B¢ .

() 30RR 2.9TWH STOD Ry BeBEoY Roe™d 301 IV 3RTOITTBTI
(29) BORR LITHS STROD Y, BupEed FoRO 30R BT VeI
() 30RR LITWH STOH Y BuEod FTFO 30K TT HTWONIII
(8) B0e0T IR ¥
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24.

25.

26.

27.

Which of the following is not a development expenditure of the State?

(A) Medical and health (B) Education

(C) Development of agriculture (D) Debt Payment

&, IENS 03P Oo%, XFFTT @2;350% 3% 8NY?

(R) BIB HH csdraeris (D) 83eo

(B) oD wepad% (B) m© DD T[S
Classification of government expenditure according to particular purposes is
(A) Economic budget (B) Primary budget

~ (C) Functional budget (D) Revenue budget

AOFR NWHeINY 5T X5roy BT BNFesceosy

(2) ©RF Joone =3 (V) RPWT [0oNE T3
(R) 3c3wZE =wonad Tz (B) smod Iwonz =3
Doha development of W.T.O. Launched in

(A) 2001 (B) 2002

(C) 2008 (D) 2013

W.T.O. © Qdees eepwd% @ouad@ WoOI [BRT3 =T/

(2) 2001 () 2002

() 2008 (8) 2013

Arrange the following in sequential order

I. | WT.O. : II. FRBM Act

III. FERA IV. LERMS

(A) IIL, IV, I, II (B) L I, III, IV

(C) I, 11, 1, IV (D) IL, III, I, IV

= %emm:gn’eémd FRodnSHon déw%ﬁm%
L Bdug 5 8 %

II. 5F. &8 9. 0. CRIOW

III. FF. 3. 8T°. &

IV. 2¢°.3.40°.00.00%°

@ ML, IV, I, It (@) L IL I, IV
(2) I II, I, IV @) I, 10, I, IV
M-5280 9] (P.T.0.)




28. Foreign trade multiplier can be expressed as

(A) Y=C+I+X-M (B) Y=C+I+X+M
(C) Y=C-1+X-M (D) Y=C+I-X+M
T3S TRTRT moeeBR, Ben BITVRRLTOD

(@) Y=C+I+X-M (@) Y=C+I+X+M
() Y=C-I+X-M (@) Y=C+I-X+M

29. Devaluation results is
(A) Rise in the price imports
(B) Fall in the price of exports
(C) Both (A) and (B)
(D) No effect on balance of payment
OTIPOR TOTIR
(@) SRS BS BB
() TFone XS DA
(2) (@) DR (V) HTBER
(@) R 3T Hoed SRFTe TOFHATIY

30. GATS agreement deals with

(A) Trade in Services (B) Trade in Goods

(C) Non-tariff barriers (D) Tariffrate

GATS 2.T08F) 0SRRYTIY 2PTRORT

(@) BeBne 30edS =TT (2) =oBNS eI aaémd
(2) 0338 JWFOTNRD (8) =o3T WO

31. Who is the custodian of National Reserves of International Currency?

(A) RBI (B) SBI

(C) IDBI (D) IBRD

2903 Be33 A3ed DAFOHT Forn® 03BT WYY QT2

(R) ST°.2.0 (D) F.2.D

(d) D.R.N.D (B) 2.2.80°.8
M-5280 [10]




32. The rate at which the RBI accepts funds from other banks is called
(A) Repo rate (B) Bankrate
(C) Reverse Repo rate (D) Cash reserve ratio
RBI 93T LROBNRLOT ALTOAEE QD FedI ddaﬂﬁo QDIJOTR édod:oa'ad
(2) 3B» w0 (2) @ BT |
() O==FF T@Be T (&®) mcb Q0T RT3
- 33. Money supply is generally controlled by
(A) Planning Commission (B) Finance Commission
(C) Central Bank (D) Ministry of Finance
AOTIRITON BEoT TRTBODZ, ACHOGRTIT '
() RBecze sodeen () ez sodeen
(R) Feoed ADISEN (B) 5080 TDOZTHOOD
- 34. List-I : List-II
a) Ml 1)  C+DD + OD + Time Deposits with Banks
b) M2 2) C+DD+0OD
c) M3 3) C+DD + OD + Savings Deposits with post
offices
d) M4 4) Broad Money + Total Post offices Deposits
- () . RO R |
- G S e
B 23 4 3
-2 3 [
0 2 4 3
e3-1 &3
a) Ml 1) C+DD+ 0D+ LROWNT oo Beamed
b) M2 2) C+DD+ 0D
c) M3 3) C+DD+O0D+ 023 3301 eveo@003 Se=es
d) M4 4) W Teo+ 0w BJONY i) Beawed
g BT
() 1 L F
o) i b TR T
AL e e
(B2 4 3
M-5280 [11] (P.T.0.)




35.

36.

37,

Which are the quantitative instruments of monetary Policy
I. BankRate

II. Variable Reserve Ratio

III. Open Market Operations

IV. Selective Credit Controls

(AY LIL LTV (B) I,IL III
(C) ILIIL IV (D) I, 1L, 1V
BroToR S0P VOTWEDST FRONTOR)D)

¥ méo% e

11. aéaaémées ST aa;g
I11. mg mdas&g- FOO3TF WBVHBNLY

IV, ©o% w050 doHoZR

() LILIILIV (22) LIL I

(%) IL, HL IV (®) LULIV

Which of the following is a physical measures of resource scarcity?
(A) Unit Cost (B) Real Cost

(C) Economic Cost (D) Life time of resource
g FNIPYNEY BOTTRY 20030 P83 WPII 03VRYTN?
(@) Fes 8y (@) 3 B

(R) SOFE JY (B) Bes BIPIT VRNWD

Which of the following is known as the Umbrella Act of Environmental protection
in India? :

(A) Water Act, 1974 (B) AirAct, 1981

(C) EPA 1986 (D) Environment Tribunal Act, 1995
3 ENSPRYY cIRT TORT FoTFFROD TFND F003);

(2) o 503} 1974 (®) oo3n socd, 1981

(%) TWORT RBOTTED 5008 (EPA) 1986 (8) =ORT aaéomaeédsa 5008 1995
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38.

39.

In the Economy, Who use the waste sink services of the environment?
(A) Only Producers

(B) Only Consumers

(C) Only those producers and consumers, who are engaged in recycling
(D) All the producers and consumers

Eﬁ&b?ﬁa’oda@ OITVTY BJVT O3RN mme; TR0 WYTF ﬁeﬁodoaﬁosh
&D@ﬁwﬁ@O@UD%d‘?

(R) YT =g,
() ODBRNND =R

(R) SVZITEBD B wma&@eﬁﬁ%ﬁg SRy Tl een JIWNSY I
mﬁéo:bcg ad@ﬁoeﬁdaagd

(B) 2 WBTFD WD, wPRNRED

Which of the following is true of climate change caused by global warming
a)  Changes in atmospheric gas occurrence

b) Global average temperatures rise

c) Damage to the hydraulic cycle, causing water shortage on earth

d) The sea water acidity increases

(A) a, b, ¢, d (B)a, b.c

(C) candd (D) a, b, d

8 FINTHNYY CIRFTD 2183 SPTRPI HOZEVOTON YVOERT B0WIOD
WBRUORHBOD DO IO

2)  TORRITY OT AHRFODY WTRBHERLY

b) 8% Foex0d NFBoDY Y

c) O 2333, TOROIN, BTWOOT 30D S oLMYT NCOT BRTI
d) BT DT BeoHI BURTYTH

(QD) a, b; C, d (23) a, b, C
(R) cadH d (@) a, b, d

M-5280 [13] S e Y(DIRON




40.

41.

42.

Which of the following is an example of Embankment or rockfield dam in the
country?

(A) TheinDam (B) Ram Ganga
(C) Nagarjuna Sagar (D) All of the above

3 WNIYNSY Te3T OLPTIVOL’ OFPDD TOFREET, TN OB
O3PRRT?

(R) BONT T (2) TORTF Mome
(2) DOMES FONT' (B) OT QW)

Which is the first State in India to start a Programme for the Empowerment of
Women?

(A) Kerala (B) Karnataka

(C) West Bengal (D) Uttar Pradesh

IFITN CPT Tz, W&o FWOeBTED TOORF BB, TBOLPAB?
() Beo$ (D) BoFEdd

(R) T oMY (®) ©v38 Tged

In calculating GNP which of the following is excluded?
(A) Interest payments (B) Rental incomes
(C) Government transfer payments (D) Net income from abroad

O3 LOTWR, W), m%eoda 3T, VYZoDY BPONB [BUMHBT D)
TONSRRDOY?

(R) WG =S (D) RR ST

(2) ROTHTR BMRF ST TOREND (B) 2c3ed T 375003

43. Which one of the following is related to the ‘Blue Revolution’?
(A) Aquaculture (B) Dairy ‘
(C) Poultry : (D) Horticulture
Qe T8 B FINT O3RR)TT, TOWORATY?

(D) BOWT xBTS (R) T BoRRETJI
(2) B3RP MOTIDT (®) 3pc3wdd

M-5280 [14]




44.

45.

46.

A major portion of India’s savings comes from

(A) Foreign currencies (B) Indian Public Sector Enterprises
(C) Household sector (D) Private corporate sector
gRTZT PITVONT BT Ny 3PT ROOOT I3

(D) DBed Zeo

(R) T80 MTFIIT IOOHT LTI

(A) DDDoW T

(B) oo3N BBReFSEF TOodH

Chairman of 15% Finance Commission

(A) C.Rangarajan (B) BimalJalan
(C) Shanker Acharya (D) NK Singh
1583¢ Beovomd es030ens OFID

(¥) A. Sonoozs® () Ve B
(&) 3o3T° ese300dhF (B) 2 .8.20r7

Employment elasticity in Indian agriculture in recent years is

(A) Decreasing (B) Increasing

(C) Constant (D) Trend is not clear
28eUT JARFNYY ZTSecH GRODY woBRens A2 MTFI
(R) 38D STVl (V) BT

() A 00N @) TH8 ATHNY

. The policy of minimum support prices of agricultural goods is designed to

. Assure reasonable income to the farmers
II.  Encourage farmers to produce food crops
III. Prevent food prices from rising

IV. Prevent food production to raise

(A) Iand IV (B) Iand III
(C) I and III (D) IandII
VI-5280 [15] (P.T.0.)




48.

49.

3 ATBNG T Bow® B VeSO CIPRTWTN Te3BeNT Q0TT.
I 3o Syoiecdmed 300 STR3OMRN

II. 33 ST BInT, WSO BRLSBTN

II. 53008 XSnsh VTS SBOINR)TWTYN

IV. $300% e03E803D BeNRuod B0 BTN

(@) IR IV () I I

() T I @) I3y I

Give a chronological order of the WTO Conferences :

I. Hongkong

II. Bali

1I. Nairobi

IV Geneva

A L m, 1L IV (B) I, IL, IV, I

(C) v, 1L, 1L 1 (D) I, I, TV,=I1L

83 8GR B SpRE WTO ©90ReBINEY, FOCOZNRE, 2T
[. TOT FOI

II. @9

L. JBReR

IV. 2¢=®

@) L IL I, IV | () II,10, IV, I
(2) Iv, I, 1L, I @) I, I, IV, 11

Assertion (A): Money lenders are still playing vital role in Indian agricultural
credit even though they charge high rates of interest.

Reason (R) : The commercial banks in India are unable to achieve their
lending targets to agriculture.

(A) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
(B) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(C) (A)is correct (R) is incorrect

(D) (A) is incorrect (R) is correct

M-5280 [16]




TSTTI(A) : SeenBemoD 98 éaﬁo WRTT NOFWEBTR. IT TS0

ﬁdwm@deﬁ QOANR eﬁwda efmso *-as w&o gcsamd

QReBI(R) : POTSTIT waséas LROWNY FA WO Jde@ZoD mboivabat
3@3w€b Qw@ﬁaﬁﬁ

(R) (A)RD (R) 208 X0 =33 R) ¥ (A)I zo03Rz WRTBODY
®) (A) DD (R) 28Re %0 B (R)Q) (A) B Rocd»T DFTRo3PAS
() (A)"o37AT3 (R)w@OdJDﬁO
®) A NOO3RNY (R) 003N

50. Inagriculture, marketable surplus can be defined as
(A) Current production + Stock
(B) Current production — Marketed surplus
(C) Current production — Stock — Current consumption
(D) Current production — Current consumption
5 8e303¢ Rwoots BRBELRITT VOTDL, Sert asam&mmhd
(R) %9 WITITI + ADEEIN
() w9 NS - dmdoséé SRR SIALA
(2) w9 WIITS ~ omZ~ pl) wmz;’iraeri
(@) @9 emagcﬁd— @09 wDZeen

PART-B
N -

This part shall contains five questions, each question carrying ten marks.
[5x10=50]
3 PNy @ I "‘%mﬁm &ao&dﬁd, TS aﬁéeﬁw 23 wo#mfsb araoadagd.

)

1.  State and explain with suitable diagrams the law of demand What are the reasons
for the downward slope of the demand?
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2. Compare and contrast the Classical and Keynesian Theory of income, output
and employment.
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3. Distinguish between economic growth and economic development. Evaluate the

measurements of economic development.
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4. Critically examine the Heckchsher theory of international trade.
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5. Explain the trends and composition of national income.
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Note : English version of the instructions is pnnted on the front cover of this booklet.




